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(*) Instructions to candidates: .

1) Answer Q.1 OR Q.2, Q.3 OR Q.4 . o

2) Figures to the right indicate full marks. Point wise allocated marks are in [ ]
3) Use of scientific calculator is allowed

4) Use suitable data & draw sketches where ever required

Ll

Q1) Explain any one hands-on exercise you did in the class related to the coursework (i.e. model making,
free -body diagrams, innovations, Anzalysis & Design Parameters, Value Engineering, Stability of chair,
sketching, Techtionary, etc.). Present your answer in bulleted description including, but not limited to
the following points; Preface/Title & Key-words [1], Objectives [1], Discussions [3], Interpretations
[2], Flow-Chart/Sketches [2], and Conclusions [1]. . [10]

OR

Q2) Explain various basic loads on a RCC Building with examples [3]. Estimate your own contact
pressure when standing on floor [2]. How many persons of mass 60 kgs each will be required to
stand in | sq.m area to produce Live Load of — a) 3 kN/sq.m; b) Service LL considering (a) and; c)
Ultimate LL considering (a)? [2] Comment on each case [3] . [10]

Q3) ll_nspe'ct the following figures and repbrt your observations, and interpretations on any two figures.
Present your thoughts in bulleted description on the following points; Key-words & Key
Observations [2], Thoughts & Discussions [4], Interpretations [2], and Conclusions [2]. [10]
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OR
Q4) a) Explain with suitable sketch/s the importance of Neutral-Axis (Reference Points — Composite
action, Concrete-to-Rebar Bond, Compressive & Tensile Stresses, and Crack propagation).  [6]

b) Wh); a structure designed for higher Ultimate factored loads need to be rechecked for relatively
lower Service loads? Explain with an example. [4]
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